Longer tail for high V
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At as function of t*gD
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At as function of t*SD
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1) Gaussian fit with cut
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2) o, Gaussian + Landau fit
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The same measurement 200V

] h_deltat

— Entries 825
N Mean 2.528e-10
- RMS 9.993e-11
C %2/ ndf 36.87 /45
__ Prob 0.8005
- PO 38.54 + 4.89
. p1 2.648e-10 + 6.106e-12
C p2 7.482e-11+ 4.155e-12
:_ p3 156.6 + 46.1
N -2.734e-10 + 8.202e-12
L 2.447e-11+5135e-12
_ L= e dx1 0'_9
4 -0.2 0.2 0.4 0.6 0.8

80l h_deltat
B Entries 987
B Mean 2.608e-10

70 RMS 1e-10
B %2 { ndf 76.27 / 41
B Prob 0.0006787

60— ) 65.26 = 2.54
- pl 2581e—10  2.352e-12
B p2 ~6.031e-11% 1.57d4e—12

S0 n p3 —2.486e+05 + 3.737e+00
B pd —2.118e-10 + 1.414e+00

40 B p5 -1.735e+11+ 1.41de+00

30f-

20

10

Oo_n I ||J_|| O e X10_9
-0.4 -0.2 0 0.2 04 0.6 0.8



	Slide 1
	Slide 2
	Slide 3
	Slide 4
	Slide 5
	Slide 6
	Slide 7
	Slide 8

